
Christmas Crossword 2008
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Clues
Across

6 Three bridges in close proximity (4,1,5)

8 Efforts have been made to keep this constant through a curve (6)
10 If the turbo-generators  on the locos worked maybe the train could be heated by this TLA (1,1,1)

11 Introduction to a curve (10)

13 If this wasn’t done to the bearings the loco may run a hot box (5)

15 There are records of these being delivered to Beddgelert for The Goat Hotel (4)

16 There are four of these on Phase 4 (6)

18 A siding with water above at this location (4,3)

19 Engineers’ code for bridges over the railway (2)
Down
1 Osprey’s can been seen from here even in Winter (11,3)

2 Several watering holes along the route (3)

3 When the Porthmadog signal shows this, the train may start (3)

4 This must be done to the track in order to get the alignment just right (6)

5 Car drivers in the Aberglaslyn Pass might have thought this when they saw Prince there in November (11)

7 These sidings allowed easy transhipment in Porthmadog harbour (5)

9 Rough track might cause this to happen (6)

12 These instruments have been obtained from Eire (5)

14 Merddin Emrys may have been one of these Celtic bard/priests (5)
17 The service car will have one so passengers needn’t wait for a station (3)
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